Assembly Super Pulk 2 seat 2 shocks mono (Hagon)
HAGON shock absorber
Front Left/Rear Right
Left side

Rear Left/Front Right\

Rubber washer IN105930

Bolt M10x40

Washer M10x30x2,5

Washer M10
Lock nut M10

Front Left/Rear Right

465

Rear Left/Front Right

Rear Left/Front Right

Profile 25x25x1,5

95 |

Front Left/Rear Right

Profile 40x25x1,5

Bolt M12x85 Left S|de

;

Drive direction

Bolt M12x100

Bolt M12x85

Bolt M12x100

Right side

C

Drive direction

Spacers SET Art.Nr.: 13461

16,5
o
A 2x
N2
18
o
B 2x
,
44
¢
C 2x &%  t+———
,
eeeeeeeee MM | 10/02/2020 | NnA [T A0 “1:35 |T172

Title

I. Henacren Frame assembly Hagon mono shock
——— Front Front e Wintr procuc
eeeeeeeeeeeeeeeee ight ©
Part Number (Swelog) Rev
NK IN110488 A
16 I 15 I 14 | 13 I 12 11 I 10 | / | 6 | ) | 4 3 I 2 I 1




16 15 14 | 13 | 12 11 10 7 | 6 | 5 | 4 | 3 | 2 | 1
Use Hagon shack absorber
O
[ l 00O (OOO) (
] ° / (\[°°9) [© \ C
D(1:1)
C(1:2)
OO0Q) (OOO
\ (0 (0
4L _ 9
N )
Use the middle and rear hole in a top frame
eeeeeeeee MM Criaa)n/DOatez/zozo Total MassN/A Format AO Scale 1 : 4 Sheet20f Sh7et52
I.I‘ |||.,II| eren’ h Frame assembly Hagon mono shock
Hengeren ng;ngggnﬁg;yﬁ;ft%ev isste Winter products
ONK IN110488 A
16 15 17 | 13 | 0 11 10 7 | 5 | 5 | 7 | 3 | p) | T




	BK-Montering-Hagon-2020-posisjon.pdf
	BK-Montering-Hagon-2020.pdf

